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le Màiri

with Mary.dat
'with Mary'

Note: prepositional elements appear in their base form when followed by a proper name or indefinite
fo bhòrd

under table.dat
'under a table'

note: prepositional elements appear in their base form when followed by a proper name or indefinite
leis a’ pheann 

with.def the.dat pen.dat 

'with the pen'

Note: prepositional elements appear in the definite form when followed by a DP headed by the definite article, or quantifier gach 'every, each'
fon a’ bhòrd 

under.def the.dat table.dat 

'under the table'

Note: prepositional elements appear in the definite form when followed by a DP headed by the definite article, or quantifier gach 'every, each'
leatha  

with-3sf
'with her'

Note: prepositional structure where preposition agrees in phi-features with a non-overt pronominal
fodha 
with-3sm 

'under him'

Note: prepositional structure where preposition agrees in phi-features with a non-overt pronominal
*Siud a’ chaileag a dh’eisd thu rithe
That the girl wh-C listen.past 2s to.3sf 

‘That’s the girl that you listened to.’

Note: there are no resumptive pronominal structures in SG, pro found in these constructions cannot be A-bar-bound in a relative or wh-construction
Note: Ungrammatical
Siud a’ chaileag a dh’eisd thu ris
That the girl wh-C listen.past 2s to.3sm 

‘That’s the girl that you listened to.’

Note: default masculine singular form is found in place of an agreeing preposition
*Siud a’chaileag a dh'èisd thu ri 

that is the girl wh-C listen.past 2s to 

‘that’s the girl you listened to’

Note: the base form of the preposition is equally excluded in A-bar-binding contexts]

Note: Ungrammatical

Note: ASGG speaker finds marginal

Chuir thu am peann ann 

Put.past you the pen in.3sm
‘You put the pen in it.’

Note: if there is no A-bar-binder, the preposition is interpreted as though it has a 3ms pro following
Cò a chuir am peann anns dè am bocsa? 

Who wh-C Put.past the pen in.def which the box 

‘Who put the pen in which box.’

Note: multiple wh-question; in such questions wh-expressions count as definites
Dè am bocsa a chuir thu am peann ann
which the box wh-C put.past you the pen in.3sm 

'Which box did you put the pen in?'

Note: trace is indefinite, therefore definiteness is not checked at Spellout
*Dè am bocsa a chuir thu am peann anns? 

which the box wh-C put.past you the pen in.def 

'Which box did you put the pen in?'

Note: trace is indefinite, therefore definiteness is not checked at Spellout
Note: Ungrammatical

Cò a dh’èisd ri cò? 

who wh-C listen.past to who 

'Who listened to whom'

Note: when a simple wh-word is extracted, the default form of the preposition is seen]

Cò a dh’èisd thu ris 

Who wh-C listen.past you to.3sm/to 

'Who did you listen to?'

Note: no wh-movement: if wh-constructions were generated via movement of the wh-word, then a bare preposition would be grammatical, which it is not]

*Cò a dh’èisd thu ri? 

Who wh-C listen.past you to.3sm/to 

'Who did you listen to?'

Note: no wh-movement: if wh-constructions were generated via movement of the wh-word, then a bare preposition would be grammatical, which it is not.

Note: ASGG native speaker reports this would be typical of younger informal speech.
??Dè am fear de na peannan aige fhèin a bha Iain a’sgrìobhadh leis 

Which one of the pens at himself wh-C was Iain writing with.3sm 

‘Which one of his own pens was Iain writing with?’

Note: a reflexive embedded in the wh-DP cannot be coreferential with the subject inside the remainder of the clause

Note: ASGG native speaker finds ok, especially if use dhena instead of de na
Chunnaic mi Dàibhidh ‘sa bhaile [an dè] 

see.past 1s David in the town yesterday 

'I saw David in the town yesterday'

Note: position of proper name object
Chunnaic mi [‘sa] bhaile [an dè] e 

see.past 1s [in the] town yesterday 3sm 

'I saw him in the town yesterday'

Note: postposed pronoun
Chunnaic mi e [‘sa] bhaile [an dè]  

see.past 1s 3sm [in the] town yesterday
'I saw him in the town yesterday'

Note: postposed pronoun
Dh’èisd mi ‘sa bhaile [an dè] ris 

Listen.past 1s [in the] town yesterday to.3sm 

‘I listened to him in the town yesterday’

Note: prepositions with little pro objects 

Note: post-posed prep pronoun

Dh’èisd mi ris ‘sa bhaile [an dè] ris 

Listen.past 1s to.3sm [in the] town yesterday 

‘I listened to him in the town yesterday’

Note: prepositions with little pro objects 

am program a bha thu ag èisdeachd [an dè] ris? 

the program wh-C be.past 2s listen.vn yesterday with.def 

‘the programme you were listening yesterday to.’

Note: it is possible to strand prepositions at the end of sentences in questions
am program a bha thu ag èisdeachd ris [an dè] ris? 

the program wh-C be.past 2s listen.vn with.3sm yesterday with.3sm 

‘the programme you were listening yesterday to.’

Note: it is possible to strand prepositions at the end of sentences in questions
an duine a bhuaileas e 
the man wh-C hit.fut.rel 3sm
‘the man that he will hit.’

Note: relative clause formed with complementizer a
*Cò a’ chaileag a bha thu a’ bruidhinn rithe? 

Who the girl wh-C be.past 2s prog speak.vn with.3sf
‘Which girl were you talking to?’

Note: default agreement morphology appears under relativization.
Note: Ungrammatical

Cò a’ chaileag a bha thu a’ bruidhinn ris? 

Who the girl wh-C be.past 2s prog speak.vn with.3sm 

‘Which girl were you talking to?’

Note: default agreement morphology appears under relativization
Thuirt e gun do bhuail e e 

Say.past 3sm that past struck 3sm 3sm
‘He said that he hit it’

Note: subordinating complementizer is gu(n)
an duine a bhuaileas e 

the man wh-C hit.fut.rel 3sm 

‘the man that he will hit.’

Note: relative or extracting complementizer is a
*an duine a thuirt e a bhuaileas e e 

the man wh-C say.past 3sm wh-C strike.fut.rel 3sm 3sm 

‘*the man that he said that he will hit him’

Note: there is no resumptive pronoun strategy or distinct complementizer for resumption
*An duine a thuirt e gum bhuaileas e 

The man wh-C said 3sm that strike.fut.rel 3sm 

‘The man that he said he will hit?’

Note: long distance relatives are built with complementizer a
Note: Ungrammatical

An duine a thuirt e a bhuaileas e 

The man wh-C said 3sm wh-C strike.fut.rel 3sm 

‘The man that he said he will hit?’

Note: long distance relatives are built with complementizer a
an duine a thuirt e a bhuaileas e  

the man wh-C say.past 3sm wh-C hit.fut.rel 3sm 

‘the man that he said that he will hit.’ 

Note: 'in a long-distance relative from a complement clause, the C head of that complement clause bears a case feature which is checked by the higher little v or by V'
an duine a thuirt e gum [buaileadh e ] 

the man wh-C say.past 3sm that would hit 3sm 

‘the man that he said he would hit.’

Note: normal embedding complementizer gu(m) is ungrammatical in long-distance relative
Note: ASGG native speaker reports ok. 

